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ANNOTATED ANSWERS
SECTION A – Multiple Choice
Question 1

*D. Converting WAV data to MP3

A to C do not change the data.  D does.

Question 2
*C.  MP3, WAV, WMA
MP4, MPEG, DIVX are video, not purely audio.

Question 3

*A. Nassi-Shneiderman chart 

Note: “Shneiderman” does not have a “c” nor a double “n” at the end.
Question 4

A is well organised and the date in reverse format leads to easy chronological sorting.  B is a jumbed mess of unrelated documents with variable file name formats. C is neat, but dumb.  D is not so bad, but the names are too abbreviated, and lack useful date info.
Question 5

*B. -6, -5 and -4 degrees Celsius
You need to cover in-range data and border conditions.

Question 6

*A. A systems analyst

The technician is more of a day-to-day maintainer/repairer.  Programmers don’t design networks.  MIS do ongoing network development but a systems analyst is the one who investigates and designs networks from the top down.
Question 7

*D.  Tables
Flat file = 1 table.

Question 8

*A. UTP
UTP, such as CAT6, plugs into switches to create stars.  Coax can only do bus.  FOC is for backbones, not for feeding workstations.

Question 9

*C.  A file server
Peer-to-peer LANs lack a central controlling server. They rely on users’ cooperation and trustworthiness.

Question 10

*C. TPS
TPS processes transactions.

Question 11

*B. Tree
Star is too small (e.g. PCs branching from a single switch). When stars join up, or connect to backbones, you start getting a tree.

Question 12

*B. Ethernet
Ethernet is the king of networking standards.  It defines both hardware specifications and communication protocols.

Question 13

*C.  Virus detection
Routers do not stop viruses.  They inspect packets.

Question 14

*D. External entities.
Yep.

Question 15

*D. OSI
RSA and SSL feature particularly on the web.  Pretty Good Privacy is good for documents, emails etc. 
Question 16

*B. 1
Should be 10/100

Question 17

*D. 1,3,2,4

First names are the weakest and easiest to predict.  The word “password” is still considered a clever trick by some people.  Dedicated fans of anything often unwisely base their password on that interest. A long, random, mixed-case alphanumeric password is strongest.

Question 18

*D.  Analysis, design, development, testing, documentation, implementation, evaluation 
ADDTDIE

Question 19

*A. Gantt and PERT
Many people get these wrong.

Question 20
*B. Speed and cost.
The key word is efficiency.

Section B – Short Answer
Question 1

54%, complete

55%, complete

56%, complete

54%, incomplete

55%, incomplete

56%, incomplete

Covers boundary conditions and all contributing variables.

=IF( AND ( B2 >= 55% , C2 = ”complete” , ”Pass” , ”Fail” )

Note the >= is not the same as = !

Question 2

TEXT: TXT, DOC, any other word processor/text editor format e.g. WP7, RTF.
SOUND: MP3, VOC, WMA, OGG, FLAC,RM, MIDI, SND etc
IMAGES: JPG, GIF, PNG, BMP, TIFF, PSD, TGA, MIC etc
Question 3
1. Should not have space in “Track name”

2. Track Name field length too short

3. Length should be numeric to store a number of minutes.  Time = time of day

4. DateReleased should not be compulsory

5. Artist name far too long.

6. Artist name should not have to exist in a limited list.

7. Phone number should be text to allow spaces, parentheses, + etc

Question 4

Use a utility such as XNview or Photoshop that can create batch jobs to resize, convert, create webpages, create thumbnail images and add links to the large image automatically. 
Question 5
a.  Fill in the text in the empty shapes.   (3 marks)

Light the gas!

Is kettle boiling? 

End

b.  Convert the completed flowchart into a properly-formatted Nassi-Shneiderman chart in the box below (3 marks)
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Or use an IF structure instead of WHILE
Question 6

Allows internet connection.

Save money by sharing one printer, one internet account.
Easier internet access by multiple people at the same time.

More productivity because not queuing to use limited resources.

Question 7

· Management information system (MIS)  regional mgr

· Tactical decision system (TDS)

· Executive information system (EIS) national mgr

· Expert system (ES)

· Transaction processing system (TPS)  store mgr

· Strategic support system (SSS)

· Decision support system (DSS)  regional mgr

Question 8

A ) Need client-server because public users can’t be trusted on a LAN without being restricted and controlled by a NOS on the server.
b) CAT5, CAT6, UTP. Not coaxial or fibre!
c) Switch!  (accept “hub” reluctantly if you like).

d) A network interface card (NIC)
e) Star

f) Bus – can’t get BNC cables and NICs any more.
g) 10, 100 or 1000 Mbps.  Must have capital M.  Small ‘b’.
h) To protect the LAN from hackers, port sniffers, Trojans transmitting from their PC.  Not to stop viruses!
i) Antivirus, antispyware, Trojan scanner, use password features of software, encryption, usage logs.
j) e.g. not too short, not in dictionary, mixed case, numbers and letters, not predictable (e.g. wife’s name), not the same password as used elsewhere, changed regularly.
k) A simplified grandfather/father/son scheme would do.  Daily incremental backups, weekly full backups.  Store backups offsite.  Don’t re-use media too soon.  Test the backup to ensure it works.  Have a documented scheme.
l) Square = patron

Top arrow = “Request to reserve a book”

Circle = “Process reservation request”

Left bottom arrow = “Email to advise of book’s availability”

Right arrow = Patron’s email address

Data store = Customer information file

Question 9
Analysis* - current system is observed, specifications are developed, feasibility study

Design – use appropriate tools to work out how the system will be constructed

Development – acquire hardware, software, do programming, assemble, test

Testing – user acceptance testing, integration testing

Implementation – roll out to customers

Evaluation- survey, measure, see what lessons can be learned for next time

  Acquisition.  Validation.      Disposal.

b) Could waste time and money trying to solve a problem that doesn’t exist, or can’t be fixed, or is not worth fixing.Won’t know what to aim for, or how to judge whether you’ve been successful or not.
c) Implementation.

d) Phased – spreads costs and training stress over time.

Direct – if new system fails, you’re stuck.

Question 10
a) Can’t read big words – keep vocab simple

Short attention span – make things short, fun and exciting

Don’t understand complex issues – keep things simple
Get scared easily – no shock tactics or gruesome images

B ) How easy it was to read 

How memorable it was

Whether it changed children’s thinking or understanding of road safety etc

c) You’d cover different topics (e.g. bikes, learner drivers)
Language would be less babyish

Graphics would change to be “cooler”

Colour scheme would change

Games and activities would need redesigning or removing

Arguments could be more mature

d) Web form for visitors to fill in.  Feedback could be used to refine the site’s message, fix errors, make it easier to understand.

Question 11
Table – bold headings, right-align numbers, lines above totals
Graph – labelled axes, units on axes, etc

Question 12

a) Name this type of project managemet tool (1 mark)

PERT chart

b) How many possible paths are there from the start to the end of the project? (1 mark)
Five – ACGK, BDHK, BDML, BEIL, BFJL

c) Identify the tasks on the critical path, and the length of the critical path (1 mark)

Tasks BEIL – 14 days
d) If task E took a day longer than planned, what effect if any would this have on the finishing date of the project? (1 mark)

It’s on the critical path so there’s no slack.  The finish would be 1 day later.

e) If task D took 3 days longer than planned, what effect would this have on the finishing date of the project? (1 mark)

No effect.  It just uses up its slack

f) How many days over schedule could task A run without affecting the end date of the project?  (1 mark)

8 days

g) What is this amount of time called?  (1 mark)

Slack

h) The project manager wants to reduce the total length of the project by 4 days.  By bringing in extra workers, she manages to reduce the durations of tasks B and L by 2 days each.  Explain whether she will achieve her desired finishing date, and explain why.  (1 mark)

The critical path is reduced to 10 days, but the next longest path BDML becomes the new critical path at 11 days, so only 3 days have been saved.
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